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fo=e™™ —oco<t<oo

00000000000 (3.2)00000ooobobooon

1
gogoouoooog fU0bob MOOOOoooood
(M)t —(=1)™ (as)m —at
200) = (-1 2
00000000 (3.35) 00 (3.29)00000000000000

1 2m
[0, = SR
(1 —2asq) (1 — aus)?M

0000000 (3.30)00

_ M(as)?

O T 0T (as)?)

gouooood (3.31)DDDDDDDDDDDDDD
M(a5)2

Am)2, = — X5

(M)t = 01 ()72

(3.33)

(3.34)

(3.35)

(3.36)

(3.37)

(3.38)

Oooooodn mge O (Am)?t)DD (3.32)0000000DOO0O000O00O0OooO

Ly = (as)?

()
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gooobugoobbuodgbboubouboubouboubuoouud «e gy
goouoooodgodd

L 2
0 _ _(a3) (3.40)
(Liy+1)° {(as)>+1}?
Am(t)z L 1
= — 3.41
(M) (L+1)2M ( )
oodd cddodooogooouood
o%>a>—%DDDDDaDDDDD
1> (as)*>0 (3.42)
dodooboooood
M
7 > My(y) >0 (3.43)
goooood
M 2
7 > (Bm)y 20 (3.44)
oodn
o—%Za>—ooDDDDDo¢DDDDD
1 < (as)? (3.45)
godooooooooo
M
> <mg <M (3.46)
ogdooodod
M 2
oo

(as)*>- 00000000000000000000(as)*>— 000000000 MOO
O0000000000000000000(aws)?=00000000000000 MO 2
0 MO400000<(as)?<10000000000000000 MO20 MO 4
goodgbooooon
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3.3.4 U0UU0OLOOOOOOOOOOOOOn
guodgoodaod

goddbobobgbogbougbobobobgooobobobooboboad
gooboouoodboboboboboogd

e 00DODOOO fs O 20 [kHy

e JOOOOO MO 8

e 00000 feO 50 [Hz , s = 51

e D000 O ft)=e, 0<t<1, a=-2750

e 10 s U 0,002

average m

Il Il Il Il Il Il Il Il Il
(o] 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
times

034 000000000000 my

0000 f)=e00000000000C0D00O0O0O0OO0OODOOODODOOODOO
3400 35000000 4o baubouboaobbouonog
gbbddb+=00000000000000O0O0O0ODLOOOODLDOOODLOOODLO
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Il Il Il Il Il Il Il Il Il
(o] 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
times

U35 0guopoubogoogod (Am)(zt)

gobogtobbootdbbogobboooobooobbooobbooobbbgobb
gooogboogbboddtd m=MUOUOODOOUOLOOOLOLUOOLOOooLboooo
(3.30)0(3.3) 000000000 o0oobobobooboooooboobooDoooboboOooOon
000000000 3370000000000 0 3s00000000O0ODOODODOOO
gobgobbbgoboubgubooboubogoobboboooboobouon
O0000000D00ooO @38 oooooooooogo

goodgoogod

Jodbboooooobobboobbuobobtd bbb bboobbo
gogdbobboguobobgboboobobooooboboooonoobobd

e LD OODO M:8

000000 fs: 20 [kH

00000 feO 50 [Hz], s: 5+

27 fe

e D000 O f(t)=e, 0<t<1, a=—200r~ 1007
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e 10 so U 0,002

0000 o« = -200r ~ 100r UOUOODO0OODOOOOO0OOOOOOOO0OO
el 7l es=-2~0,00000000000000L00000O000
goudgooubbdbiblbes 00 -1 0000D0OOO0O MOO ODOOODLDO
googuooguboobbogbbogbnooobouooibd e b bogoo

gogooubogooboboogn

heikin

036 000000 myy;as=-2~1000
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03700000 (Am)y;as=-2~1000

3.4 0OU

3.4.1 O0O0O0OOO0OOOO0O0OO0O0OOO0

000000000000000000000000000000000000000
D000000000000000000000000000000000000000
0D000000000000000000000000000000000000000
000000000000000000000 ||| 00000000000 mO0
0 (Am)?00000000000000000000000000000000000
0000000000000000000000000000000000000000
000000000000000000000000

3.4.2 U00O0OO0OOOobOoOooobod

gododogoouououooogouogbogoobgbgbdgbgoaogn
godbduoogobobgbobonbobobobobooooboboobooon
gboguooubodbgobobobbobdbobobouogboooid « gooooan
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gboodbougooubouboobobooobn

googboboobooobood

0000000000000 ft)=e 000000000000 mO0OO (Am)?
gogood

as

=M (3.48)
(Am)? = % (3.49)

gogooooooodood me 000 (Am)%t)DDD

_ M(as)?
(Am)fy = % (3.51)

O000000(as)*=10 (as)*=0000000000000000000000O0

038 00uuuguogun U39 dbudbouogogd

O0000000(es)?=100000000000000000000000000O00OO
ogdbibdd e=00000bo0obboobbobbooboobbonbogn
goodul o« gubgbuooogubgboub MO 20000000000 000
googbodn s.8b3.o0dnog
gododogodgbgouuooogogbgodgoobgbgbgbgbgogn
godbdooogbbbodbbobdbgboooboobobobononbibilil o
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gogbbdbdbooogobobuobobouuobobobuooobobuoa
00000000000000000000000000000000 {m,(Am)?mg),
(AmmﬁDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
goog

3.5 UUOoogn

gododogodgogogogbogobgbgbdgogbgbgbdgbgbgobgn
gboogboogooubogboobobooobn

gododogodbogodauuogogbgogboobgbgbgbgbaogn
gogboougbgdboobobnooboobobobonoobobobooooon
gogogubogbobobobobbood
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L] 4[]

Jobdotdodoodotdodood
U

obddboobooboobobobobboboobuooboobobobbobooo
gbogbuooobobogogbobugbobuoboobobuooooboban
goouoooodgodd

4.1 O0O0O0O0O0OOO0OOOOOOOOOO

gbogbogubooouobuogbouboub e bbb ogboobooo
goggoogogn f o

fo(t) = Aleialt —|— A2€7a2t (41)

0000000000000 0000 AD «0000000000000000000
D000 f(t) 000000000000

PR = A e (12

b A )

0000000000000 DO00000000D0 43)00000000000 Mh(t)
goodon

h(to) = Afl (Mm_ l) nM(te) (1=0,1,..., M) (4.3)

m=0
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0(.3)0000000000DO0O0O000 m(tey)DODDDOOOOOOOOO

Al(to)eial (to)to Ag(to)eial (to)to

i) = (1~ ayliogs T - aatto)s)

(4.4)

goobgougoobbobbodgbodgboubbbobobogbodb e bogba

googoogoogoon

4.2 O0O00OUOOOOOOOO0O

gboguoggbod t=¢ ubbubboubugnbobggubnboann

0000000000000 0D0O00 m(te)yobO

51(150) = ; 52(t0) = !

N 1-— Oé]_(to)S7 n 1-— Oéz(tg)S
Bi(to) = Ax(to)e 100 By(ty) = Ag(tg)e (o)
000000 (44) 000000000000 {h(t)}
hi(to) = Bl(to)ﬁl(to)l + Bz(to)ﬁz(to)l (1=0,1,2,3)
oddddddggtddddodoooon
P(z) = (2 — f1(to))(z — Pa(to)) = po2” + p1z + P2
0000000000 P(z)=0000 Bi(te)0 Balto)

po =1
P1 = —(ﬁl(to) —l—,Bz(to))
P2 = F1(to)B2(to)

00000000 pOp0p, 00 P(z) 00000

poha(to) + prha(to) + p2ho(to) = Bi(to)P(Bi(to)) + Ba(to) P(Ba(to)) = 0

g

pohs(to) + prha(to) + p2ha(to) = Bi(to)Bi(te)P(Bi(to))
+  Ba(to)fa(to) P(P2(to)) = 0
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00000000000 (4.10)0(4.11)000000

(ho(to) hl(t0)> (pz):_p(](hz(to)) (4.12)
hi(to) ha(to)) \m ha(to)
Jo0o0o0oodoooododogonoooodoogog hl(to)DpODDDDDDDDD
O00Op,p UOOUOOOOOOOOOOOONO

_ hi(to)ha(to)—ho(to)hs(to)
pito) = ho(to)ha(to)—h2(to) (4 13)
) = halto)hs(te)— R (to) '
p2( 0) - ho(tg)hz(to) h%( 0)

00000 (4.6) 00 By(te), Balte) O

{mto); pi(to) + /p2(to) — 4pa(to)}

(4.14)

PBa(to) - \/P% — 4Apa(to) }

000006 (t),Bulte) 00000000 (47)00000000000

(ﬁl(to; to)( ZD (Z? ) (4.15)

0000 (415000000000 OBy(t), Ba(te) O

Bi(to) = g0 50 102(to) ho(to) — ha(to)} (4.16)
Ba(to) = gy sy U (to) = Bilto)ho(to)}
0000000000000 (45 00 alte) 000
ta) = (1 — =L
o) =0~ ) aar)
az(to) = ;(1 o ﬁz(to))
0000041000000 t=¢t 000 f(t,to) OOODODOODODO
f(to,to) = Bl(tO) + BQ(to) (418)

000000000 {t=t} 0000000000 4900000000000
f(t,tg) — Bl(to)e—m(to)(t—to) + Bz(to)e—az(to)(t—to) (4'19)

00 t=t, 000000 (419)00 (418) 000000000
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f
/////, o® B1(to)+B2(t0)

U 4.1 00000oobooooauo

Bi(to),B2(te) DO DODODODODO

00 Bi(to), Ba(te) O (4.14)000000000000000000000 By(te), Balto)

O ay(te), aa(te) 0000000000000 0000000

{aﬁ@_a%)mwm

00000B() O alt,) 00000000000000

5(t0) — (Bl(to);Bz(to))
’y(to) —i(Bl(tO;—BQ(to))

w(to) _ —i(ea(to)—a2(to))

{U%%JMM?MD
2

00000000 By(t),Bate) 00000000000

Bi(to) = %C(to)(cos 0(to) + isinO(tg))
Bg(to) = lC’(to)(COS e(to) — ¢sin 0(150))

2
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gooobougoouoboogd

{ iC(to) sin 0(to) = (Bi(to) — Ba(to)) (4.25)

C(to) cosO(tg) = (B1(to) + Ba(to))

ODDO0O0000000O060(t,) OO

itan0(ty) = (4.26)

0(ty) = tanl{—i
U

ODDOO0O0OO00D0OC(t) 0D (425 0000000000OOO0OO

Clto) = \/{Bl(tO) + Bs(to)}? — {(Bi(to) — Ba(to))}? (4.27)
= /4B(to)Ba(to)
= 24/ Bi(to)Ba(to)

oooooO0o0o00 {w,e,C,p} 00000CODOOODDODODOOD ¢, OOODOODOOO
googoouogboboboooooon

f(t,to) = Bl(to)e—al(t—to)+B2(t0)e—a2(t—t0)
= Clto)e ") cos{w(to)(t — to) — O(to)} (4.25)

0000 C(t,) 0000000000000 o(t) 0000000000000 w(t)
0D000006(t,) 0000000000000000000000000000000
(419)0000000000000000004.10000 {t=4}000000000
D000 (428)000000000000

31



4.3 UU0UOOOOOOOOOOOO0O

4.3.1 0OUOUOUOUOOOOO

goobboood

fo) =0 t<0 (429)

gooobuodguoogooooooboon

{ fo(t) = Ce " cos(wt —0) 0<t<5H

e 0000000000 00000
e 00D0DOOO M=3M=38

e 0000000000 fc=23.26Hy
e C=10,0=05w=20,0=0

0000000004200000000000000000000000000000
00000000000 {k(()} 00 4300 4.11 00 00p(t), pa(te) 00 4120000
0000000 {Kp(#)}000000000000000p(t),pe(te) 10000000
0oo

0000 w(t)

0000 w(t) 0041300000000 w(t) 000000000000 05000
D0000000000000000¢=00 f(¢)0000000000000000O
D00000000000000000000000 w(t)=20[rad/s) 0000000
000000000

000000 o(ty)

O00000000O00 o(te) U0 414000000000 o(te) DOODO 05000
gobogbboooobbobobobbobbobbooboubouboobouog
googoodoodbd

32



00000 C(t)

00000000 Cty) OO 41500000000000000000000O0CCOCO
googuoaod

000 6(t)

000 6(ty) D0 4160 0000000000000 0OO0OCDODOOOODODOOOODOO
gobgbogbogboobogbobboobd

gogodogodgogodgogbgodgbobobobbboobdgbobgobgn
guouuodgbogbdbt m=300000bdt M=30 M=8000040dn0u
goggooobbogogbogbgbobouobnboboboboboooooooogn
gbooguoubogoobobobobobdgbuob mOOob4oobooa
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-10 I I I I I I I I I 10 I I I I I I I I I
[o] 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5 [o] 0.5 1 1.5 2 2.5 3 3.5 4 4.5
Times Times

042: 0000 foft) 0 4.3: 00 h(t),l =00(M = 3)
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(=] (=] o

I L L L I I I L I L L I I I I L L L L L L L L L
o ® © < o~ o o < © @ o ® © < o~ o o < © @ [=) o © © < o~ o N < © © o
= ] = ] T 7 = [ 1 I I T

apnyjdwy apnyjduwy apnyjduwy

= 60(M = 8)

Times

0 4.9: 00 hy(t),!
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e
o

sl
6l
al
SL i
@
3
2
£ o /V\/V\/\N\/\/\N\/\NW
£
<
o : B
4l
6L
_sl
_10 i i i i i i i i i
0.5 1 15 2 25 3 35 4 45 5
Times

Amplitude

I I I I I I I I I
0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
Times

0 4.11: 00 hy(t),l =80(M = 8)

0.6 50
0.4 45
0.2 40
35
o]
30
NQ—O.Z _
= =25
-0.4
20
-0.6
15r-
-0.8 10l
-1 sk
-1.2 L o L
0.5 1 1.5 2 2.5 3 3.5 4 4.5 5 o 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
Times Times
O 4.12: py(to), p2(to) 0 4.13: D000 w(to)
5 20
a+ 18
3L 16
oL 141
s 12
= =10}
5 or 53
sk
—1k
6L
—2F
al
_3
2L
—ar
ok
5 I I I I I I I I I
[¢] 0.5 1 15 2 2.5 3 3.5 4 4.5 5 o 0.5 1 15 2 2.5 3 3.5 4 4.5 5
Times Times

04.14: 000000 o(t)
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theta
I
a
o

~100 I I I I I I i i i
o] 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
times

0 4.16: D00 6(to)

googoogo

O000D00ODODO0DO000 ¢, 0000000000 fx)D00O0D00O0 f(t,t0)
googoddbobiod ,=1,2,3,400000000000000 41700 4.200
guoboagbodgbitt=¢t, bbb bagbogbbogbbaubognn
oooooOoOOoOoOoOoooboOobobobobobO041DDODDODODDD feyDODO
000 f(t,t) ODOOOOOOODOOO0O0O0ODODO0O0OO00ODOOO0OOODODOOOOO
OO0O0o0o0ooopoogonD fh)oobooooooOooooooooooooooDo
godbooobgugbgbobonbububouobonoobbonnooboon
OoOooOo0oooooobobooooooooobboboD fmyobobbboboooooo
g

U41:00¢t=¢t, 000000000

to || w(to) a(to) C(to) 0(to)

20.000069 | 0.500019 | 6.066314 | —19.993333
20.000074 | 0.500006 | 3.679408 | —39.993333
20.000074 | 0.500006 | 2.231674 | —59.993333
20.000074 | 0.500006 | 1.353578 | —79.993333

> W N |
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Amplitude

Amplitude

Amplitude
(=}
‘ § ‘
i i i

| | | | | | | | |
0.75 0.8 0.85 0.9 0.95 1 1.05 1.1 1.15 1.2
times

0417 000000 {t,=1}0M =3

1.25

0 4.19: 000000 {tc=3}0M =3
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| | | | | | | | |
1.75 1.8 1.85 1.9 1.95 2 2.05 2.1 2.15 2.2 2.25
times

0418 000000 {tc=2}0M =3

0 420: 000000 {t,=4}0M =3



4.3.2 U0
guoogbguoguod

000000000000000000000000000000000000000
00 (042 00000000000000000000000000000(0000
50000 250)00000000000042100000000000000000
00000000000000000000000000 20[rad/s) 000000000
000000000000 wt) O 20 [rad/s) D000

[w= 20, to=2, e=2]
T T T

1400

1200

1000

Power Spectrum

I I I I I I I I
o] 10 20 30 40 50 60 70 80 90 100
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U 421 0000000 ¢t =250

goodgbooooooono

gobboddgbogubuoogubooggbooobnbbooobnbobuoobn
gooodgbdb42000000000000000 42000 M =30 M =800
oot 1.502313 U 4.006267 DO O UOOLOODOO MO 200000000000
googoutdoouboubogboabt 0.786771 U 2.343560 U DO U

bobbdboudbodbouboboudbuoubouibnd 4.2204.2204.2304.22
gubbobduobgobbooubbooboobboobooboobboooboobg
gogbdbobobogboobbobobobobobobobooonbooooogb
googbogbogbogboubobboobboobbobn
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average m

average m

042 000000 mO000 (Am)?

M | m (Am)?

3 1.502313 | 0.786771

8 4.006267 | 2.343560
0 422 0000 7D (M = 3) 0 423 0000 (Am)3,0(M = 3)
0 4.24: 0000 70 (M = 8) 0 425 0000 (Am)3,0(M = 8)
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[M: 8,fc:3]

0427 000O000O0O0ODDOOOOO(M =28)

4.3.3 UUOUOOUOOOOOO
bbb ooboubouboounboobuogboobo

0000000 fo(t) D000

{ fo(t) =Ce “tcos(wt* —0) 0<t<5 (4.30)

fo(t)=0 t<0
gboogbotbboobooouooobogbbgobon
e UUOOOOLOOO DO OOOOO
e UUUDOOO M=3,M=28
e 00D0DO0DOODOD fe=3.26 [Hz
e C=10,0=05w=20,0=0

000000 42800000000 {&®t)} 0O 42900 4.370 0 0 Opy(to), pa(to)
00 433000000000000000000000000000000 {h(t)} O
pilto),pa(te) 0000000000000 0O
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tv=12,3,40000000000000000 44300 4460 00000000000
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